Exhibit C

Timekeeper Summary Chart for the Final Fee Period (November 22, 2002 – December 2, 2003)

Name of Professional Person	Position with the Applicant	Year Admitted	Department	2002 Hourly Billing Rates	Total Billed Hours	2003 Hourly Billing Rates	Total Billed Hours	Total Compensation
Theodore L Freedman	Partner	1973	Bankruptcy			\$670.00	0.50	\$335.00
Joseph Serino, Jr.	Partner	1989	Litigation		_	\$430.00	0.20	\$46,233.50
	T artifici	1707	Litigation			\$525.00	87.90	
Peter D Doyle	Partner	1994	Litigation	\$355.00	42.50	\$395.00	0.50	\$174,309.00
	T urtiler	1771	e	\$355.00	12.50	\$480.00	331.30	\$171,509.00
Scott R Samay	Partner	1996	Intellectual			\$460.00	5.70	\$51,499.50
			Property			\$475.00	102.90	
Wendy E Long	Partner	1999	Litigation	\$365.00	13.50	\$380.00	2.80	\$5,991.50
Dryden J Liddle	Associate	1999	Bankruptcy			\$255.00	5.50	\$1,402.50
David S Olson	Associate	2002	Litigation	\$270.00	142.50	\$345.00	168.70	\$103,433.50
Durid D Olison	1 ibboolate	2002	Litigation	\$270.00	112.50	\$290.00	23.30	φ105, 4 55.50
	Associate	Pending	Litigation	\$225.00	139.60	\$240.00	108.90	\$301,896.00
Jeffery R Johnson						\$305.00	656.70	
						\$345.00	127.70	
Joshua B Simon	Associate	Pending	Litigation			\$345.00	385.00	\$132,825.00
Ryan Morettini	Associate	Pending	Litigation			\$255.00	28.90	\$7,369.50
Andrew F T Giddings	Law Clerk		General			\$175.00	60.40	\$10,570.00
Yetu M Robinson	Law Clerk		Litigation			\$175.00	176.50	\$30,887.50
Meredith Greisman	Legal Assistant		Litigation			\$165.00	62.80	\$10,362.00
Bella More	Legal Assistant		Litigation	\$60.00 \$80.00	22.50 2.00	\$95.00	7.70	\$2,241.50
Nancy J Pittman	Legal Assistant		Litigation	\$140.00	17.00	\$185.00	103.00	\$21,435.00
Nathanael F Meyers	Legal Assistant		Bankruptcy			\$145.00	4.20	\$663.00
						\$180.00	0.30	
Christopher J Valeri	Legal Assistant		Corporate			\$175.00	6.00	\$1,050.00
Toni L Wallace	Legal Assistant		Bankruptcy			\$150.00	0.20	\$9,587.00
						\$190.00	50.30	\$9,587.00
Peggy Chan	Case Assistant		Bankruptcy			\$95.00	5.50	\$522.50
Eric J Feder	Case Assistant		Litigation			\$100.00	13.20	\$1,320.00
Alison Fitzgerald	Case Assistant		Litigation			\$95.00	2.00	\$190.00
Matthew S Rheingold	Case Assistant		Bankruptcy			\$85.00	4.20	\$777.00
Matthew 5 Kilelligolu	Case Assistant					\$100.00	4.20	ψ///.00

Exhibit C.DOC

Name of Professional Person	Position with the Applicant	Year Admitted	Department	2002 Hourly Billing Rates	Total Billed Hours	2003 Hourly Billing Rates	Total Billed Hours	Total Compensation
Marc Stepper	Case Assistant		Litigation			\$65.00	2.00	\$130.00
Carmelo A Soto	Technology Services		Litigation	\$130.00	9.00			\$1,170.00
Library Research	Research		Admin. Services			\$125.00	1.00	\$2,484.50
						\$165.00	14.30	φ2,404.30
Total					388.60		2,554.30	\$918,685.00

Timekeeper Summary Chart for the First Quarterly Fee Period (November 22, 2002 – June 30, 2003)

Name of Professional Person	Position with the Applicant	Year Admitted	Department	2002 Hourly Billing Rates	Total Billed Hours	2003 Hourly Billing Rates	Total Billed Hours	Total Compensation
Joseph Serino, Jr.	Partner	1989	Litigation			\$430.00	0.20	\$86.00
Peter D Doyle	Partner	1994	Litigation	\$355.00	42.50	\$395.00	0.50	\$172,149.00
Telef D Doyle	1 arther	1994				\$480.00	326.80	
Wendy E Long	Partner	1999	Litigation	\$365.00	13.50	\$380.00	2.80	\$5,991.50
Dryden J Liddle	Associate	1999	Bankruptcy			\$255.00	5.50	\$1,402.50
David S Olson	Associate	2002	Litigation	\$270.00	142.50	\$345.00	168.70	\$103,433.50
David 5 Olson	Associate	2002	Litigation	φ270.00		\$290.00	23.30	
Jeffery R Johnson	Associate	Pending	Litigation	\$225.00	139.60	\$240.00	108.90	\$257,839.50
Jenery R Johnson						\$305.00	656.70	
Andrew F T Giddings	Law Clerk		General			\$175.00	60.40	\$10,570.00
Yetu M Robinson	Law Clerk		Litigation			\$175.00	176.50	\$30,887.50
Bella More	Legal Assistant		Litigation	\$60.00	22.50	\$95.00	7.70	\$2,241.50
Dena More				\$80.00	2.00			
Nancy J Pittman	Legal Assistant		Litigation	\$140.00	17.00	\$185.00	59.00	\$13,295.00
Nathanael F Meyers	Legal Assistant		Bankruptcy			\$145.00	4.20	\$663.00
Nathanaerr Weyers			Dankruptey			\$180.00	0.30	\$005.00
Toni L Wallace	Legal Assistant		Bankruptcy			\$150.00	0.20	\$30.00
Eric J Feder	Case Assistant		Litigation			\$100.00	13.20	\$1,320.00
Matthew S Rheingold	Case Assistant		Bankruptcy			\$85.00 \$100.00	4.20	\$777.00
							4.20	
Carmelo A Soto	Technology Services		Litigation	\$130.00	9.00			\$1,170.00
Library Research	Research		Admin. Services			\$125.00	1.00	\$2,484.50
	Kesedicii		rumm. Services			\$165.00	14.30	φ2,τ0τ.30
				Total	388.60		1,638.60	\$604,340.50

Timekeeper Summary Chart for the Second Quarterly Fee Period (July 1, 2003 – December 2, 2003)

Name of Professional Person	Position with the Applicant	Year Admitted	Department	2003 Hourly Billing Rates	Total B illed Hours	Total Compensation
Theodore L Freedman	Partner	1973	Bankruptcy	\$670.00	0.50	\$335.00
Joseph Serino, Jr.	Partner	1989	Litigation	\$525.00	87.90	\$46,147.50
Peter D Doyle	Partner	1994	Litigation	\$480.00	4.50	\$2,160.00
Scott R Samay	Partner	1996	Intellectual Property	\$460.00	5.70	\$51,499.50
Scott K Samay				\$475.00	102.90	
Jeffery R Johnson	Associate	Pending	Litigation	\$345.00	127.70	\$44,056.50
Joshua B Simon	Associate	Pending	Litigation	\$345.00	385.00	\$132,825.00
Ryan Morettini	Associate	Pending	Litigation	\$255.00	28.90	\$7,369.50
Meredith Greisman	Legal Assistant		Litigation	\$165.00	62.80	\$10,362.00
Nancy J Pittman	Legal Assistant		Litigation	\$185.00	44.00	\$8,140.00
Christopher J Valeri	Legal Assistant		Corporate	\$175.00	6.00	\$1,050.00
Toni L Wallace	Legal Assistant		Bankruptcy	\$190.00	50.30	\$9,557.00
Peggy Chan	Case Assistant		Bankruptcy	\$95.00	5.50	\$522.50
Alison Fitzgerald	Case Assistant		Litigation	\$95.00	2.00	\$190.00
Marc Stepper	Case Assistant		Litigation	\$65.00	2.00	\$130.00
				Total	915.70	\$314,344.50